[image: ]Problems Chapter 11
(a) [image: ]3, (b) 1, (c) 2, (d) 4

[image: ]D, B, A = C = 0 (torque = slope of graph L vs. t)

(a) 48 t k, (b) 24 t2 increasing

[image: ]






(a) 4.64 x 10-3 kg m2, (b) 1.13 x 10-3 kg m2/s, (c) 3.94 x 10-3 kg m2/s











(a) 24 kgm2/s, (b) 1.5 kgm2/s
(a) [image: ][image: ] 22.6 rad/s, (b) 3, (c) the man by moving the bricks toward him.

(a)  750 rev/min, (b) 450 rev/min, (c) counterclockwise



[image: ]
1286 m/s
[image: ]

12 m/s


[image: ]400 m/s
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image6.emf

image7.emf

image8.emf

image9.emf

image10.emf

image11.emf

image12.emf

image13.emf

image14.emf

image15.emf

image16.emf

image17.emf

image18.emf

image19.emf

image1.emf

image2.emf

image3.png
*35 Al time ¢, the vector # = 4.0F1 — (2.0¢ + 6.07)j gives the
position of a 3.0 kg particle relative to the origin of an xy coordinate
system (7 is in meters and fis in seconds). (a) Find an expression for
the torque acting on the particle relative to the origin. (b) Is the
‘magnitude of the particle’s angular momentum relative to the origin
increasing, decreasing, or unchanging?
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